
৳ଌ඼෻نग़عادلاتد৒ࡶජاീিࣱل(ઔधلग़عادلات૚঺ජ໑هاول)
ग़عادلاتد৒ࡶජاീিࣱلزୌراउلඅ౶ید.

١)y′ = tan y cotx− sec y cosx

٢)(x٢ +١) y (xy′ − y) = x٣

٣)(x lnx) y′ = x lnx−y

۴)y′′ = y′٢

٢y (١+ y′٢)

۵)(x٢ +xy) y′ = x
√
x٢ − y٢ +xy + y٢

۶)y y′′ +y′٢ = y′٣ ln y

٧)y′ = ٢x+ y−٣
٢−x−y

٨)y′ = cos(x+ y −٢)

٩)y′′′ = ١− y′′٢

١٠)x٢ y = ٣(x٢ + y٢) tan−١ y
x +xy

١١)y′ = (٩x+۴ y +٢(١

١٢)(x٣ tan٢ y −١) tan y dx−x sec٢ y dy = ○

١٣)y′ = ex

ex +y −١

١۴)(sin(xy)+xy cos(xy)+٢x)dx+ (x٢ cos(xy)+٢ y)dy = ○

١۵)(y٢ − y
x (x+ y) +٢x)dx+ ( ١

x+ y +٢xy +٢ y)dy = ○

١۶)y٣ sec٢ xdx− (٢−١ y٢ tanx)dy = ○

١٧)(x٢ y ln y +xy٢ − y sinx)dx+ (١٣ x٣ +
١
٢ x

٢ y + y٢ cos y)dy = ○

٢(١٨y dx+x (x٢ ln y −١)dy = ○

಻ൿൌৎناଌنਯ༙ࣥور،ग़عادଔراउلඅ౶ید. با ਗxی�با॰د. + yیاز٢਑ভห(٣y٢ − x)dx + (٢y٣ − ۶xy)dy = ਯ༙(۱۹ࣥوراวষࢂඟالग़عادଔد৒ࡶජاീিࣱل○
ਗیبا॰د.) f د৒ࡶජاീিࣱلভหع df ৔وଘଥرا૕বهزउୌلඅ౶ید.(੬ࣚਵوراز رابا y(x٢ + y٢ − ١)dx + x(x٢ + y٢ + ١)dy = ○ ଔعادग़(۲۰

d(tan−١ y
x
) = xdy − y dx

x٢ + y٢


